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    Class x


Max.Marks 100                                         Time :3Hours 
General Instructions

1. All questions are compulsory.

2. The question paper consists of 25 questions divided into three sections A, B & C. Section A contains 10 questions of 3 marks each. Section B is of 10 questions of 4 marks each & Section C is of 5 questions of 6 marks each.

3. There is no overall choice. However, an internal choice has been provided in two questions of 3 mark each, two questions of 4 mark each & two questions of 6 mark each.

4. Write the serial number of the question before attempting it.

5. In question on construction, the drawing should be neat & exactly as per the given measurements.
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1. Solve the following system of equations graphically: (bottom)
      2x+3y=12 

       x-y =1 

2. The 7th  term of an A.P. is 34 and 15 th is 74.Find 40th term.

3. A gas cooking range is available for Rs.2500/- cash or Rs.520 down payment followed by 4 monthly installments. If rate of interest is 25% per annum calculate the monthly installment.

4. A sum of Rs.8, 400/- is borrowed at 10% per annum compound interest, to be paid back in 2 years by two equal annual installments. Find the value of each installment.

5. In figure ABCD is a quadrilateral with AB=AD. AE and AF are respectively bisectors of angle BAC and angle DAC. Prove that EF//BD.
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6. 
Construct the circum circle of the triangle whose sides are 6.5cm 7cm & 7.5 cm and measure its radius.

7. A well of diameter 2 m is dug 14m deep. The earth taken out is spread evenly all

     around it to a width of 5m to form an embankment. Find the height of the                     

     embankment.

8. The diameter of a metallic sphere is 6 cm and radius of the base is melted and drawn in to wire of uniform cross section .If the length of the wire is 36 m, find its radius.

                               OR

 A solid cone of height 24 cm and radius of base 6 cm is made up of modeling clay. A child reshapes it in the form of a sphere. Find its radius

9. Table below shows daily pocket allowance of children of a building. The mean of pocket allowance is Rs.18.Find out the missing frequency.                      



	Class Interval
	11-13
	13-15
	15-17
	17-19
	19-21
	21-23
	23-25

	Frequency
	    3
	    6
	    9
	   13
	    X
	     5
	     4


10. A bag contains 20 balls. There are three different colors, green, red& blue. A ball is chosen at random. The probability of green ball is ¼. The probability of red is 2/5.

a. What is the probability of blue ball?

b. How many balls are red?

c. How many balls are green?





SECTION B


11. Solve for x and y 

4x + 6/y = 15

6x – 8/y = 14    (y not equal to 0) 






And hence find P if y=Px – 2.


12. Simplify








(x-y)3                 X          x4 – y4             X         (x+y)2 – 3xy
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(x +y)2 – 2xy            (x +y)3 –3xy(x+y)
            (x+y)2 – 4xy

13. If  (x2 – x –2) is the H.C.F. of the expression (x-2)(2x2 +ax +1) and   

(x+1)(3x2 + bx + 2) find the values of ‘ a’ and ‘b’.

14. Solve for x. 







(4x-3)   - 10(2x-1)     = 3    {x not equal to –1/2 or ¾)

(2x-1)          (4x-3)

15. Some students planned a picnic .The budget for food was Rs.480. But 8 of these                                    failed to go and thus the cost of food for each increased by Rs.10. How many                         students went on the picnic?

16. The bisectors of the opposite angles A and C of cyclic quadrilateral ABCD intersect the circle the circle at the points E and F respectively. Prove that is a diameter of the circle.
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17. Prove the identity

               tan A    +   tan A     = 2cosec A
               sec A-1     secA+1 

                                                  OR

              Evaluate

              Sin (500+x) – Cos (400-x) +tan10tan100tan200tan700tan800tan890.

18. The lower portion of a haystack is an inverted cone frustum and upper part is a         cone. Find the total volume of the hay stack where AB=3m CD =2m PA=7m PC=10.5m    
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10.5m




19. Calculate the ratio in which the line segment joining A(3,4) and B(-2,1) is divided by the y-axis.

20. The coordinates of the center of a circle are (4,5) and one point of the circle is (8,10). Find the coordinates of the other end of the diameter through this point


SECTION C

21. Prove that if in a triangle the square of one side is equal to the sum of squares of other two sides then the angle opposite to first side is a right angle.

Using this prove 

      ABC is an isosceles triangle with AC=BC. If AB2=2AC2, prove that ABC is 

      right    triangle.

22. 22.If PAB is a secant to a circle intersecting at A and B and PT is tangent then prove that    PA X PB =PT2. Using it find x in the following where PB =4PT =8 and OB =x        
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23. Two ships are sailing in the sea on either side of a lighthouse. The angles of depression of the two ships are observed as 600 and 450 respectively. If the distance between the two ships is                             

Find the height of the lighthouse.

24. The number of students in a hostel speaking different languages is given below.

Represent the data by a pie chart.

	Language
	Hindi
	English
	Marathi
	Tamil
	Bengali
	Total

	No. of students
	  40
	12
	9
	7
	4
	72


25. The annual income of Mrs. Rxxx Tom is Rs.570000 exclusive of H.R.A. She contributes Rs. 400001 to PM’s Tsunami Relief Fund (100% rebate) and contributes Rs. 20000 for her school where she studied (50% rebate) she contributes Rs. 5000 per month to her P.F. and pays an annual premium of Rs. 10000 towards her LIC policy. The earlier deductions as income tax for the first 11 months are at the rate of Rs.500 per month. Find her income tax due in the last month.  

Assume the following for calculation

a. Standard deduction

1) Up to Rs.500000        40% of the salary subject to max of Rs.30000

2) Above Rs.500000        Rs.20000

b. Rates of income tax

               (1) Up to Rs.100, 000:

       No tax

               (2) From Rs. 1,00,001 to 111250
10% of the amount exceeding Rs.                                                                                                                                                                 50000

(3)From Rs.111250 to 1,50,000:Rs. 11250 + 20% of the amount                            


                          exceeding Rs. 60000  

               (4) From Rs.1,50,000 to Rs.8,50,000:
    Rs. 19000 + 30% of the                          

                                                                 amount exceeding Rs.  1,50,000. 

               (5) Above 8,50,000

     Rs.229000 +30% of income above                     
                                                         Rs.8,50,000    

                c. Rebate in income tax:

               (1) 20% of the amount of the saving subject to max. Rs. 14,000 if taxable  

               income is up to Rs.1,50,000

    (2) 15% of the amount of saving subject to max. Rs.10,500 if taxable     income is between Rs.1,50,001 to 5,00,000    

         (3) NIL, if taxable income is above Rs. 5,00,000
                 (4) Additional rebate of Rs.5000 for women 

                  d. Cess: 2% of the tax.
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